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Candidates are required to give their answers in their
own words as far as practicable.

Answer any four questions. 4x12

1. Discuss how a perfectly competitive firm reaches equilibrium in the short
run. 12

2. Explain how consumer attains equilibrium through indifference curves
and budget constraint. 12



10.

11.

12.

13.

Define price elasticity of demand. What are the determinants of price
elasticity of demand? Show how you can measure price elasticity of
demand at a point on the demand curve. 2+5+5

Explain diagrammatically the concept of total product, average product and
marginal product for a variable factor. 12

State the law of demand. Discuss the exceptions to the law of demand.
What is the difference between changes in demand and shifts in the
demand curve? 4+4+4

Distinguish between returns to variable factor and returns to scale.
Discuss different types of returns to scale. 8+4

(a) What is an Indifference Curve?
(b) Discuss the properties of an Indifference Curve. 3+9

Show and explain that the Average Variable Cost (AVC) and Marginal Cost
(MC) curves are just the opposite in shape of the Average Product (AP)
and Marginal Product (MP) curves respectively. 12

Answer any six questions. 6Xx2

What are the basic questions, which economics try to solve?
Why two indifference curves do not interesect each other?
What do you mean by Giffen good ?

Distinguish between fixed cost and variable cost of production.

What do you mean by production function ?
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14. What is an Isoquant?

15. Distinguish between normal and super normal profit.
16. What is Opportunity Cost?

17. What do you mean by derived demand ?

18. What is Marginal Revenue Product?
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